M7 EE

TR MEREXY

<7BDITETFE> AH7E6H2 6 BRME
B |8 | &R BRAITE THREEZ || B |68 |E RAITE TARBFZ
” 16:10 i = 15:10
I [X[O 1730 16 |K|O|2&E#REEZEES (5h) 1630
2 |k |O|3#tmnns (5-6h) o || x T 14215
. HRER [1:10
3R 15:10 18|20 BERESES5:30~16 : 30) 16:45
16:10
4 |#|0 im0 |19 E
5 (X MAFIL X IEFHERS 20 (B
6 | H MBI X BFEAS
7| B| X |[=58HK4UHRBRELEHY) 13:30
g |xlo ZHEBKS LERIRERLEDHY) 13:30 7R198(+£)~8 A31B(A) EikA
BERERE(16:10~17:15) 17:30 78198 (1) ~248(K) Bw=TmKLS
78288 (A)~31B(K) EX&
g | x|o[FERRRURMERERSY) 13:30 8AITA(R) 2&Z&EHKA
BERERE16:10~17:15) I7:30 | 8AI8A(A)~19B(K) 2 FHRISME
] ) 8A20B (K) | - 3FHKH
10 | KR| X [=ZHBKS URRIIREREDY) 13:30 8B23A(+) X7 —ILa>H—k
— e 8A28H(K) | FFFHAKRH
Hlelo ZEBKSURRIIREBLEDY) 13:30
’ BEERSE(16:10~17:15) 17:30
S s XEARAERT, ARILE DO KBEXEIENTTHONE
2| 2] [HERmRERTRAS T kit REEOERICETHRBEBAILET,
}s SR AS = 2 Ty R ~ N
A TR BT A S ﬁiafgﬁﬁmﬁﬁm%ti\ BRAERDFZEFLLYET
13| 8 o THERL X,
Fw=AKE (7J</ﬂ()
14| B | x 15:10
» 16:10
151 X0 17:30
BEHTRETEZ 17 :30
<O RBDFERITE>

IB(R) SBEXN(TRETI1:20)

28 (k) Rk

3(K) | EMEER (~48)

8B (R) £E%

9B (K) HHBERESEESE (~128)
168 (K) EREFENRELES

208 (+)-218(R)-278(+)-288(AH)
HABKES

25B(CK) AEARSFITES

298 (R) REARSEME

30A(K) REARS

FREEOBTIE, E| + T
fEHRHP%E iy
JELETV




